Box 1 - 1944CBB/NT Processor
Description

© 0O ~NOOULDA WNPE

10

] FURUNGO

PACKING LIST FOR 1944CBB/NT

Part No.
RPUOQO15/NT

OME-354-90Z

IME-354-90Z

OSE-354-90Z

000-154-025
000-549-013
000-549-014
100-292-140
000-802-081

Navnet VX2 Black Box Processor

Operator's Manual
Installation Manual
Operator's Guide
"Change of Fuse Notice
Power Cable Assembly
Fuse FGBO 7A

Fuse FGBO 15A

3, 5, 7 Fuse Label
Tapping Screw M5 x 20

Box 1 - RCU017 Control Unit "Cont'd"

~NOoO o~ wNPRE

Part No.
RCU-017-E
100-307-920
000-863-306
000-881-446
000-804-799
000-159-679
100-320-100

Box 2 - Gearbox

© 00 N O U~ WDN P

Ll < =
A W DN PRFR O

Part No.

RSB0070-059

300-130-020
000-515-332
000-863-112
000-864-132
000-864-263
000-862-191
000-863-109
000-864-129
000-864-260
000-862-180
000-141-084
000-566-000

6/25/2007

Description
Control Unit

Mounting Plate
Wing Nut

Washer Head Screw M4 x 30

Wing Screw M4 x 30

IC Cable 20S0338 7P > 7P

White Plastic Cover

Wt: 22 Ibs. Dim: 26" x 14" x 10"

Quantity
1

AP WWRRRLRR

"Cont'd"

Quantity
1

[ O NG N

Wt: 50 Ibs. Dim: 18" x 21" x 18"

Description

Gearbox with RTR059 6KW X'CVR

Reducer Grommet
Corrosion proof mat
Plastic Cap

Hex nut M12

Flat Washer M12
Spring Washer M12
Hex Bolt M12 x 60
Hex Nut M6

Flat Washer M6
Spring Washer M6
Hex Bolt M6 x 25
EMI Core RFC-13
Grounding Cable 340MM

Page 1 of 2

Quantity
1

P WkFRrFPFPOFR P>~ PEP PR

For Internal Use Only

Serial No.4324 -

Checked By:
Tech
Date
RPUO15/NT
Yes Remarks
cmap configuration
sub SP03-14501
sub CP03-2590
RCUO017
Yes Remarks

sub FP03-10001

attached to RCU

RSB0070-059

Remarks

inside gearbox




] FURUNGO

PACKING LIST FOR 1944CBB/NT

Box 3 - Antenna
Part No.

XN12A/4

000-851-313
000-862-187
000-864-262
000-864-130
000-854-118

o 01 A W N P

Box 4 - Cable
Part No.
1 000-140-435

6/25/2007

Wt: 151bs. Dim: 12" x 8" x 52"

Description Quantity
Curved Face 4' Antenna "Side Feed" 1
"O" Ring 1
Hex Bolt M8 x 30 4
Spring Washer M8 4
Flat Washer M8 4
"3 Bond" Adhesive 4

Wt: 10 1bs. Dim: 16" x 17" x 5"

Description Quantity
15M IC Cable with Connectors 1

Page 2 of 2

For Internal Use Only

Serial No.4324 -

Checked By:
Tech
Date
XN12A/4
Yes Remarks
sub 008-225-130
000-140-435
Yes Remarks

20, 30M available




Box 1 - RCU017 Control Unit "Cont'd"

6/25/2007 Page 3 of 2



